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3. AB=AC ¢l o587t ABC 9|4 BC = BD ©|i /DBC = 26°
o off, LA & F5HE?

A

@ 13° @26° ® 30° @ 52° ® 72°

ABCD 9|4 «C = /BDC ©]al /C + /BDC + 26° = 180°
AABC A4 £ABC = £C ©]21 /ABC + £C + /A = 180° ©]t}.
oluf, ,C = /BDC = /ABC ©°]|EZ /A = 26°




4.

S 9o 4 AABC = BA = BC ¢l o]|5 84zt olt}t, AC = AP
ojx /C =72 W, zx+ 2y O F2?

A

\
B

@© 64° @ 66° ® 68° @ 70° @72"

AACP = AC = AP ¢ o] 584 Ztgolng
LAPC = 72°
SoLx Ly =T2°

ofl




th-& 234 AB = DC,AC = DB 121 /BOC = 84° & 1,
£OBC ©] 47]& F-3tofet.
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> HEh: 48°

AABC = ADCB (SSS %)

(ACB = /DBC

m2kA AOBC + ©]-5HAZ g ot
- LOBC = (180° — 84°) + 2 = 48°
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AABC oA /B = /C olEZ
RB-[ (D |-
/A=] (%) |e]22BA=BC---O

@® AB=BC=CA,AC, /B

(@)AB-BC=CA,AC, «C

® /A =/B=/C,BC, /A

@ /A =/B=:/C,BC, /C

® /A=/B=/C,AC, /C

~&B

AABC oA /B = /C o|B2
AB=(AC)---0

(A= (/C)°]EEBA=BC---O




o 2™l aAABC £ ol sz olnt. BC §19] & A D oflA
AB,AC ol W&l =49 & Z+2+ P,Q 2t & o, DP = 4cm,DQ =
6em o]tk A B oA AC o & £419] ol & otof=t

A

H
P Q
B D) C
> = cm
> &HE. 10 cm
D o BH ol ¥ 4412 2-Z E, PD ¢ BH 9] W3S F 2t
shw
A
H
P Q
APFB = ADFE
BF + FE = DF + FP = 4 (cm)
DQ =EH = 6 (cm)
~BH=BE+EH=4+6=10(cm)




8. TS 1A AADE ¢} AEBC & o]5 ¥4z ot} /DEB = 40°
,£C=54° A o, LA O] A7]E Fotofet.

A

>
> =g 26°

(BEC = (180° - 54°) = 2 = 63°
LAED = 180° — (40° + 63°) = 77°
LA = 180° - 7T7° x 2 = 26°




